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usr_4eY:cyclenum {run == 7064}

7863 7863.5 7864 7864.5 7865
cyclenum

38−

37.5−

37−

36.5−

36−us
r_

12
X

usr_12X:cyclenum {run == 7064}

7863 7863.5 7864 7864.5 7865
cyclenum

7062

7062.5

7063

7063.5

7064

7064.5

7065

7065.5

7066

ru
n

run:cyclenum {run == 7064}



7863 7863.5 7864 7864.5 7865
cyclenum

34180

34180.5

34181

34181.5

34182

us
l_

co
il1

usl_coil1:cyclenum {run == 7064}

7863 7863.5 7864 7864.5 7865
cyclenum

6962.6

6962.8

6963

6963.2

6963.4

6963.6

6963.8

6964

6964.2

6964.4

6964.6

6964.8

us
l_

co
il3

usl_coil3:cyclenum {run == 7064}

7863 7863.5 7864 7864.5 7865
cyclenum

4337.5

4338

4338.5

4339

4339.5

us
l_

co
il4

usl_coil4:cyclenum {run == 7064}

7863 7863.5 7864 7864.5 7865
cyclenum

436.5−

436−

435.5−

435−

434.5−

us
l_

co
il6

usl_coil6:cyclenum {run == 7064}

7863 7863.5 7864 7864.5 7865
cyclenum

15584.5

15585

15585.5

15586

15586.5

us
l_

co
il7

usl_coil7:cyclenum {run == 7064}

7863 7863.5 7864 7864.5 7865
cyclenum

7062

7062.5

7063

7063.5

7064

7064.5

7065

7065.5

7066

ru
n

run:cyclenum {run == 7064}



7863 7863.5 7864 7864.5 7865
cyclenum

29932.5−

29932−

29931.5−

29931−

29930.5−us
r_

co
il1

usr_coil1:cyclenum {run == 7064}

7863 7863.5 7864 7864.5 7865
cyclenum

6040−

6039.5−

6039−

6038.5−

6038−

us
r_

co
il3
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